
Pontoon Float or Boat Draft Calculation
This calculator assumes that a pontoon float or boat consists of two or more pontoons tied
together by some form of structure, which is decked over to form a platform for people and gear.

Assumptions:

Dpontoon 24in Diameter of the pontoon Lplatform 24ft Length of platform on top of pontoons

Lpontoon 25ft Length of the pontoon Wplatform 10ft Width of platform on top of pontoons

Npontoon 2 Total number of pontoons Typical design weight of 
people and gear on floatLL 25

lbf

ft
2



γpontoon 47.86
lbf

ft
 Unit weight of the pontoon

Unit Weight of water
Fresh: 62.4
Salt: 64

γwater 62.4
lbf

ft
3


DLother 500lbf Weight of platform, hardware, etc.

Calculations:

DLvessel γpontoon Lpontoon Npontoon DLother Total weight of the pontoon boat (unloaded)

LLvessel LL Lplatform Wplatform Weight of people and gear on pontoon boat

Volume of water
displaced by just the
pontoon boat weight

DLVol

DLvessel

γwater


Volume of water
displaced by pontoon
boat + peaple + gear

LLVol

DLvessel LLvessel

γwater


End area of submerged
pontoon, pontoon boat
weight 

DLArea

DLVol

Npontoon Lpontoon


LLArea

LLVol

Npontoon Lpontoon
 End area of submerged

pontoon, pontoon boat
weight + peaple + gear

In this next section, we need to use calculated values to pick values from a table.  
Table is attached at the end of this worksheet.  

inTableDL

DLArea

Dpontoon
2



inTableLL

LLArea

Dpontoon
2





inTableDL 0.232 Find this number in the table, under the column area/D2.  Pick
the value of d/D from the column to the left of your value, and
enter it below.

Find this number in the table, under the column area/D2.  Pick
the value of d/D from the column to the left of your value, and
enter it below.

inTableLL 0.713

outTableDL 0.34 This is the number you picked off the table, in the d/D column
and from the same row as the value for inTableDL 

This is the number you picked off the table, in the d/D column
and from the same row as the value for inTableLL outTableLL 0.86

dDL outTableDL Dpontoon Multiply the value found above by the pontoon diameter to
find the submerged depth or draft of the pontoon boat under
just it's own weight.

dLL outTableLL Dpontoon
Multiply the value found above by the pontoon diameter to
find the submerged depth or draft of the pontoon boat under
just it's own weight.

Results:

dDL 8.16 in Submerged depth or draft of the pontoon boat under just it's own weight.

dLL 20.64 in Submerged depth or draft of the pontoon boat with passengers and gear.



 


